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SUBJECT ABILITY TEST (SAT)
Class -V 1x50=50
(Bengali Version)

1. The children were playing happily with their toys. Choose the adverb from the
above sentence.

i) Children ii) Playing iii) Happily iv) their
2. “Stop| _|” shorted the teacher. Put the correct punctuation mark in the box.

i) comma (,) ii) Question mark (?) iii) Semi colon (;) iv) exclamatory mark (!)

3. did he come to my home? Fill in the blank with correct ‘wh’ word
from below.
i) Where i) When iii) Whom iv) What
4. Alex is going to be engineer.
i)a ii) an i) the iv) none of those
5. She was wearing splendid outfit
i)a ii) an iii) the iv) none of those
6. The programme will start 11a.m.
i) at ii) from iii) on iv) with

7. Fill in the blank with possessive pronoun. The garden is
i) them i) their iii) theirs iv) our

8. Fill in the blanks with correct from of the verb.

He the school just now.
i) reach ii) reaches iii) has reached iv) reached
9. Kalis older brother taught how to ride a bicycle.

Write the correct pronoun
i) they ii)us iii) our iv) his
10. Choose which one is an abstract noun
i) silence i) class iii) wood iv) child
11. Identify the underlined adjective Whose jacket is this?

i) possessive ii) Interrogative iii) Descriptive iv) distributive



12. Write the opposite gender of ‘Duke’

i) Duch ii) Duchess iii) Dukes iv) Drake
13. Radha is an paper boat.
i) makes ii) made iii) has made iv) making
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MENTAL ABILITY TEST (MAT)

1x50=50
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SUBJECT ABILITY TEST (SAT)
Class -V 1x50=50
(English Version)

1. The children were playing happily with their toys. Choose the adverb from the
above sentence.

i) Children ii) Playing iii) Happily iv) their
2. “Stop| _|” shorted the teacher. Put the correct punctuation mark in the box.

i) Comma (,) ii) Question mark (?) iii) Semi colon (;) iv) exclamatory mark (!)

3. did he come to my home? Fill in the blank with correct ‘wh’ word
from below.
i) Where i) When iii) Whom iv) What
4. Alex is going to be engineer.
i)a ii) an i) the iv) none of those
5. She was wearing splendid outfit
i)a ii) an iii) the iv) none of those
6. The programme will start 11a.m.
i) at ii) from iii) on iv) with

7. Fill in the blank with possessive pronoun. The garden is
i) them i) their iii) theirs iv) our

8. Fill in the blanks with correct from of the verb.

He the school just now.
i) reach ii) reaches iii) has reached iv) reached
9. Kalis older brother taught how to ride a bicycle.

Write the correct pronoun
i) they ii)us iii) our iv) his
10. Choose which one is an abstract noun
i) silence i) class iii) wood iv) child
11. Identify the underlined adjective Whose jacket is this?

i) possessive ii) Interrogative iii) Descriptive iv) distributive
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12. Write the opposite gender of ‘Duke’

i) Duch ii) Duchess iii) Dukes iv) Drake
13. Radha is an paper boat.
i) makes ii) made iii) has made iv) making

58. ‘Y’ FReIfb (P forrre 2
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19. Two lines of the rail line having the geometrician shape of -

a) Curve line  b) Straight line c) Parallel d) perpendicular
20. 65721 the local value of the ‘7" is- a) 70 b) 700 c¢) 7000 d) 70000
21.TheG.C.Mof9and 15is- a)6 b)9 «¢)12 d)3
22. The largest digit, obtained from the numbers 2,5, 7,0, 4 -

a) 57042¢é b) 75420 c) 54702 d) 74502
23.The L.C.M of 48 and 60 is- a) 240 b) 280 «¢)260 d)230
24.199x39 =? a)7761 b)7751 c¢)7731 d)7621
25. For a bamboo, 2/13 red, 1/13 green and 8/34 yellow calculate the part which

is to be coloured?

a) 27/39 b) 25/39 c) 28/39 d) 29/39

26. Two common multiplicative of the members 10 and 15 is -

a) 50, 90 b) 60,80 «¢)60,120 d)30,75

27. The common factor of the following numbers 11 and 17
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a)l b)2 c)3 d) 4
28. The largest chord of a circle

a) Circumference b) Area c) Redius d) Diameter
29. Smallest form of the fraction 45/100 is -

a)4/12  b)5/13 c)5/12 d)4/13

30. What type of triangle is -
A

AN

a) Right angled b) Acute c¢) Obtused d) None of the above

31. A bucket laving the capacity of 15.300 litre of water. With a mug having the
volume of 2.400 litre, Used two times to take water from the bucket calculate
the amount of water in the bucket -

a) 9.500 lit. b) 8.300 lit. ¢) 10.300 lit. d) 10.500 lit.
32. Divisor = 14; Reminder = 12; Quotient = 5 then factor will be -

a) 153 b)163 ¢)173 d)183
33. Mahima has Rs. 26.00. She bought two pens of Rs. 2.50 each. Calculate the
rest amount with her.

a) Rs. 22 b) Rs. 21.00 c)Rs. 21.50 d) Rs. 22.50
34. Which is improper fraction?

65/3; 3/24;21/5; 48/7;17/12; 35/59
35. The colour of the Skin depends on -

a) Geatinine b) Melanin c) Chlorophyll d) Blood
36. Bone of back-bone is called -

a) Vertebrae b) Vertebra c) Vertebrae d) Vertive
37. Vaccine used for the disease tuberculosis (TB)

a) DTAP  b)BC(§¢) IPV d) MMR
38. The disease caused for the Sound pollution -

a) Asthma b) Low blood pressure  c) High blood pressure d) TB

39. The cause of moon eclipse is -

12



a) The shadow of the sun falls on the moon
b) The shadow of the comet falls on the moon
c) The shadow of the Jupiter falls on the moon
d) The shadow of the earth falls on the moon.
40. The old houses were invented near to the which river?
a) Keleghas b) kangsabati c) Bidyadhari d) Hooghly
41. In which place of Darjeeling district, the river mahananda started its
journey?
a) Lamgau b) Tokdan c) Reiling d) daohill
42. For which cultivation, the black soil is usefull?
a) Tea b) Cotton c) Paddy d) Wheat
43. The folk dance of west Bengal is - a) Bihu b) Dhimsa c)Jhumur d) Chhau
44. The main cause of primary Tide is -
a) Spin of the earth b) Attraction of the moon
c) Attraction of the sun d) Attraction of the constellation
45. The name of the Lander Chandrayan — 3 is -
a) Vikram b) Pragyan c) Aditya d) Agni
46. The smallest continent of the earth is -
a) Asia b) Africa c) Oceania d) Europe
47. The world Environment day is —
a)5™July  b) 5™ August c) 5" May d)5" June
48. Who is the current president of India?
a) Narendra Modi b) Mamata Banerjee c) Droupadi Murmu
d) Arbind Kejriwal
49. Which planet has maximum number of satellite?
a) Jupiter b) Venus c) Mars d) Earth
50. Which Country has not any river?

a) Pakistan b) Germany c) Vatican city d) Taiwan
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MENTAL ABILITY TEST (MAT)

1x50=50

51

52

53

54

55

56.

57

58

59

. Fill in the blank with numeric
2 [1z2]2d

[t [e]?

i) 10

i) 12

i) 14

iv) 16

. If BANK = FERO then CLEARK =?

i) GPIVO i

) PIGVO

. Find the mismatch -

T A
A +

. 1,3,6,

10, ?

At
+ A

i)

iii) VOGIP

i) 12

£ &
A A
iii)

ii) 13

iii) 14

\2

iv)

PGIVO

+ +
A A

v

iv) 15

. Which of these, is required to get a complete square? (By addition)

12

144

15

. Fill in the blanks -

bcd

-b

dabc

i)a,c,d, b

. Fill in the blanks -

MILK : CURD :: WATER : r

i) VAPOUR

ii) ICE

.21+18+3 ="

i) 27

i) 26

i) 21

ii)b,a, c,d

i)

i) 115

d

ii) 150

cda

iii)c, b, d, a

RAIN

iv) 19

60. Cup is to coffee as bowl is to

61

i) dish

. Which is different?

i) 10

ii) soup

ii) 12

iii) spoon

?

iv)d,a,c b

iv) DROPLET

iv) food

15

10

12

21

iii) 15

iv) 21
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iii) 200

iv) 225



62. Which figure is different?

U SoA—
(i) (ii) (iii) (iv)

63.1f23:6 =:43: )10 ii)9 )10 iv)12
64. A is Sister of B. Cis mother of B, D is father of C. E is mother of D. Find out
the relation between A and D
i) Grandfather ii) Grandmother iii) Daughter  iv) Grandson
65. Find out the different Letter bunch?

i) CABED i) UJHGK i) SRQPT  iv) TVWYZ

2
)4 ii)3 iii)2  iv)5 éw

67. 20XX AICETR S5 AT L GISRIR 0N OF 2[5 2kghs Wre @ et | W @1
> e 4737 2o (731 gR 713 A1 @ 3o Mo 9 (R O1Ree Ol 2Refe w63+

S Mok Zowy |

66. BTG Ie eyifsifes Hbras 72l F(0 =Ntz ?

\5 M| T WM E 5)
i) &I a2 s la|s|el7
" |9 | o] n 121314
1 ﬂﬁ”gl IOXES
) s 16 (17 [ 18] 19 20|29
iii) Y 12223 [ay|os|26 |27 ?_3\
29 [ z0[.21 k

68. If the day before yesterday is Friday then tomorrow will be —
i) Saturday i) Sunday iii) Tuesday iv) Monday

69. According to the figures which will be the next figure?
& S)

e 5 ot V *

J \ L2 5

i) iv)

i) i)
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70. Find out the middle Letter -

SIGNATURE
R ii)T  iii)A  iv)E

71. Find out the different one -

8B o E

iii) iv)

72. Which number will be prominent to complete the series bellow?

% 89 Y eg
i ii)@é ii iv)@

73. Gl (A0 PR 2O ANMCha bl o sffol (I 2
G g & E & ¢F &
R U T P &V 5 W

i) P i) U iii) R iv) S

74. Find out the different one -

i) CARROT i) RADDISH iii) ONION iv) WATER MELON
75. @ : (@) . m: !

) B 0] i (=) v (=]
76. Which shape is absent in the figure?

i) Triangle ii) Circle
) g ) o

iii) Square

iv) Rectangle

77. Put the correct number maintaining the same order
5 2 SH=2l0 & _F
¢ A I
b 7 9 % &
i)l6 i) 12 i) 17 iv) 13
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78. What is the weight of the apple

[5o2]
i) 200gm i) 150 gm iii) 250 gm (5 | loo
iv) 300 gm

79. Put the correct symbol 326+1+0 0+326+1

i)> )< iii) = iv) not anyone

80. Which one fills the figure given bellow?

IR R RPN N %

81. Arrange the numbers in ascending order. 756, 567, 657, 676

i) 657, 567, 756, 676 ii) 567, 657, 676, 756
iii) 756, 676, 657, 567 iv) 676, 756, 567, 657

s2.if IA B Wl-=18 Ther B EPBBEBE-
)18 Q)24  iii)30 iv)48

83. Which is completed with 31 days?
i) November ii) February iii) September iv) August

84. Tennis ball is

i) Cone i) Spherical iii) Cubial iv) Not any one
85. Doctor has directed to take Syrup. Which unit will be used to measure that
i)Kg i) Lit. iii) Meter iv) Mili \iter

86. The value of a Cake is (150-32) Which abacus is prominent for showing that

value?
T oWy A ar v A 2 5 A, >0 B A
i) i) iii) iv)
87. Find out the value of (y — x)? a [x]l 2
| ) | -2 6 M
i)3 i) 2 iii) 4 iv) 0 SR

88. Which one is used for public relation?

17



i) Letter ii) Fax iii) E-mail iv) All of them
89. Which Figure is indicating the no-parking zone?
NN /2\
i) ii) iii) iv)
90. I (I * (T GIRICS G (N 2
)@@ di)eEe i) el iv) Mo
91. (M- 2NN #0757 -
i) wer e i) MRS s i) e iv) SRR Qe
92. To resist the environmental pollution which one is to be eliminated?
i) Cotton Bag i) Plastic Bag iii) Recyclable water bottle
iv) Homemade fertilizer
93. Land-Slide can be seenin
i) Desert i) Forest iii) Plain iv) Mountain area
94. Which country is treated as a continent?
i) Australia ii) South Afric iii) Asia iv) America
95. Anju’s father has one Sister. Her name is Binita Sharma. Find out the relation
between Anju and Binita -
i) Mother ii) Grandmother iii) Nephew iv) Aunty
96. Which one is not the source of plant?
i) Jaggery i) Sugar iii) Rice iv)Cheese
97. How many teeth does an adult human have
i)20 ii)28 iii)32 iv)44
98. Which is the king of nut?
i) Peanuts i) Walnuts iii) Cashew iv) Coconut
99. Which is the middle colour of rainbow?
i) Violet ii) green iii) Sky blue iv) Red
100. Who is the writer of “Panchatantra” book?

i) R.K. Narayan i) Bishnu Sharma iii) S. Basak iv) S. Murti
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